Math 71 Spring 2007 QUIZ #1 @ 50 points

Name:

Write in a neat and organized fashion. You should use a pencil. For an exercise to be complete there
needs to be a detailed solution to the problem. Do not just write down an answer. No proof, no credit
given.

1. Solve the following equaﬁons:
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2. Simplify the following expression. Write the final answer with positive exponents.
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3. Find the slope for a line that is

a) parallel to the line with the given equation;
and

b) perpendicular to the line with the given equation.
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4. Answer the following questions:
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a) Is y a function of x? Explain.
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b) What is the domain of the function?

- ¢) What is the range of the function?
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5. f(x)= 2;:43

a) What is the domain of the function?
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c) Find f(a+h)
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b) Find £ (0)
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6. Use the graphs of fand g to answer the following:
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7. The linear function f(x)=2x+24 models the average cost in dollars of a retail drug prescription in

the United States, f(x), x years after 1991.

a) What was the average cost in dollars of a drug prescription in 1995?
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b) Find the slope of the model and describe what it means in terms of the rate of change of the
dependant variable per unit change in the independent variable.
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8. A computer store budgets $12,000 to buy computers and laser printers. Each computer costs $650 and each

printer costs $200.
a) Write an equation that models the given situation. Define the variables.
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b) Sketch the graph. Be sure to label the axes clearly. 9/
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